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A 164,520,959 161,824,257 2,696,702
700 AtgHIE 56,666,529| 57,356,559 A690,030
710 FgHIE 54,851,529 55,441,021 A589,492
716 A2[dH| 39,799,853| 40,579,853 780,000
300 Zdold 39,799,853| 40,579,853 /780,000
316 7| ASEAACHHAIH] 39,799,853 40,579,853 780,000
SIS A SO EH| (2t S 39,799,853 40,579,853 A780,000
234 (39,799,853,000 ) - 7|8 (40,579,853,000) = A780,000
751 Rz 9,851,676 9,661,168 190,508
200 =7 605,769 574,261 31,508
201 LRI 487,590 450,395 37,195
01 ArFaz|d| 157,060 159,160 22,100
O 2g+4 A 2,100
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23 (39,295,000) - 714 (0) = 39,295
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216 WAFSEH| 10,000 15,000 25,000
01 YA2ZH| 10,000 15,000 25,000
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23 (0)-714 (5000000 =  A5000
300 ZAolA 7,958,377 7,799,377 159,000
308 ZR|HAs01™ 5,731,000 5,572,000 159,000
01 AR|ABEERF 5,731,000 5,572,000 159,000
O SR 2RAZRIZARIRIAISEZ 159,000
= 44 (937,000,000) - 71”4 (907,000,000) = 30,000
it 44(1,376,000,000 ) - 7|&(1,247,000,000) = 129,000
780 SY¥&d 27,000 25,000 2,000
782 HMU|EQpFEA 27,000 25,000 2,000
758 MI|EelpHEd 27,000 25,000 2,000
O olrEABENHeEEH1E 27,000 25,000 2,000
44 (27,000,000 ) - 71”4 (25,000,000) = 2,000
800 ofH[H| 1,788,000 1,890,538 A102,538
801 ofjH[H| 1,788,000 1,890,538 A~102,538
801 ofH[H| 1,788,000 1,890,538 A102,538
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261 HHSQURpL 63,996,375| 58,296,452 5,699,923
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01 Al&H] 20,563,980 18,615,516 1,948,464
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Z2(11,610,000) - 7| (10,000,000) = 1,610
403 ARx|CHSAF20| 20,287,936| 16,775,936 3,512,000
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M 140,000
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=T 210,000
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- bk 350,000
- AEMEA Y F Ao A 140,000,000 = 140,000
- SPEUCH L SE 2B ZAt 210,000,000 = 210,000
O R[22 A UAY 1,450,000
ST 100,000,000 = 100,000
Mt 600,000,000 = 600,000
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bkt 500,000,000 = 500,000
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800 OiH|H] 42,698.440| 45046,246| £2,347.806
801 OjjH[H| 42,698,440 45,046,246 22,347,806
801 OH[H| 42,698,440 45,046,246 22,347,806
O At=oj|AtoiH[H| 42,698,440 45,046,246 22,347,806
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